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X5252
0 x 5252 = 0

1 x 5252 = 5252

2 x 5252 = 10504

3 x 5252 = 15756

4 x 5252 = 21008

5 x 5252 = 26260

6 x 5252 = 31512

7 x 5252 = 36764

8 x 5252 = 42016

9 x 5252 = 47268

10 x 5252 = 52520

11 x 5252 = 57772

12 x 5252 = 63024

13 x 5252 = 68276

14 x 5252 = 73528

15 x 5252 = 78780

16 x 5252 = 84032

17 x 5252 = 89284

18 x 5252 = 94536

19 x 5252 = 99788

20 x 5252 = 105040

21 x 5252 = 110292

22 x 5252 = 115544

23 x 5252 = 120796

24 x 5252 = 126048

25 x 5252 = 131300

26 x 5252 = 136552

27 x 5252 = 141804

28 x 5252 = 147056

29 x 5252 = 152308

30 x 5252 = 157560

31 x 5252 = 162812

32 x 5252 = 168064

33 x 5252 = 173316

34 x 5252 = 178568

35 x 5252 = 183820

36 x 5252 = 189072

37 x 5252 = 194324

38 x 5252 = 199576

39 x 5252 = 204828

40 x 5252 = 210080

41 x 5252 = 215332

42 x 5252 = 220584

43 x 5252 = 225836

44 x 5252 = 231088

45 x 5252 = 236340

46 x 5252 = 241592

47 x 5252 = 246844

48 x 5252 = 252096

49 x 5252 = 257348

50 x 5252 = 262600
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